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o Pléase check that this question paper contains 15 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

o Please check that this question paper contains 27 questions. ‘
o Please write down the Serial ‘Number of the question before
attempting it. _ 7 »
o 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the ques’tion paper only and will not write any answer
on the answer-book during this period.
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‘General Instructions :

(i)  The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

(it)  All questions are compulsory.

(iit)  Internal choice is given in Sections B, C, D and E.

(iv)  Questions number 1 and 2 in Section A are one-mark questions. They are to be_
answered in one word or in one sentence.

(v) Questions number 3 to 5 in Section B are two-marks questions. These are to be
answered in about 30 words each.

(vi)  Questions number 6 to 15 in Section C are three-marks questions. These are to
be answered in about 50 words each.

(vit) Questions number 16 to 21 in Section D are five-marks questions. These are to

. be answered in about 70 words each.
(viii) Questions number 22 to 27 in Section E are based on practical skills. Each

question is a two-marks question. These are to be answered in brief.
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Define resistance. Give its S.I. unit.

Q’Q '@HaWWWWWWﬁW%Q|q{ﬂ4 (s9m) o
[ERISICIRS | 1

Name any two elements that are used in fabricating solar cells.
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State laws of reflection of light.
: OR

Define absolute refractive index and express it mathematically. ,
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, Draw magnetic field lines around a bar magnet.
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What happens when 5% alkaline potassium permanganate solution is

added drop by drop to warm propyl alcohol (propanol) taken in a test
tube ? Explain with the help of a chemical equation. 4
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What are fossils ? Describe briefly two methods of determining the age of |

fossils.
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What is the cause of dispersion of white light through a glass prism ?
Draw a ray diagram to show the path of light when two identical glasg
prisms are arranged together in inverted position with respect to each

other and a narrow beam of white light is allowed to fall obliquely on one
of the faces of the prisms. ‘

OR

What is scattéri_ng of light ? Use this phenomenon to explain why (i) the
Sun appears reddish at sun-rise, and (ii) the clear sky appears blue.

8 @ Fesferen sifufiranst o1 fafeer vt  wffwon B

G AgNOj3(aq) + NaCllaq) —» AgCl(s) + NaNOs(aq)
(i) CaO(s) + HyO() — Ca(OH)y(aq)

(iii) - 2KCl0g(s) —2- 2KCl(ag) + 30,(g) .

() Zn + CuSO4 —— 7ZnSO, + Cu

(b) ﬁw%@ammﬁwmmwwa;mﬁmﬁaaﬁm;

T -
aaﬁwﬁwﬁﬁéa@#@zmﬁwéwwﬁﬁ%&mwmm
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(a) wmﬁwmwﬁﬁm%?m&%ﬁaaﬁﬁmmmﬁh@l
(b) Ww&%mm@%amﬁﬁmﬁr@m
(c) wﬁ%m%mawﬁsﬁwwﬁﬁwaﬁmﬁmm

}a{ Classify the following reactions into different typés :
) AgN Os(aq) + NaCl(ag) — AgCl(s) + NaN O3(aq)
(i)  CaO(s) + HoO() — Ca(OH)q(aq)
(i) 2KCIOg(s) —4—, 2KCl(aq) + 304(g)

@v)  Zn+ CuSO4 —— ZnSO, + Cu
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()2?/ » Translate the following statement into a balanced chemical

equation :
“Barium chloride reacts with aluminium sulphate to give
aluminium chloride and barium sulphate.”

OR

When potassmm jodide solution is added to a solutlon of lead (II) nitrate
in a test tube, a precipitate is formed.

(a)  What is the colour of this precipitate ? Name the compound
precipitated.

(b)  Write the balanced chemical equation for this reaction.

(¢)  Listtwo types of reactions in which this reaction can be placed.
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(a)  Natural water bodies are not regularly cleaned whereas an

aquarium needs regular cleaning. Why ?

(b)  What are decomposers ? What will be the consequence if the
decomposers are completely eradicated from an ecosystem ? Give
justification in support of your answer.

OR: |
_ ow is ozone formed in the upper atmosphere ? State its importance.
What is responsible for its depletion ? Write one harmful effect of ozone

depletion.
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A white powder is used by doctors to support fractured bones.

/Qa’)/ Write the name and chemical formula of the powder.
(b)Y How is this powder prepared ? | |
: }_@)f“’”ﬂ When this white powder is mixed with water, a hard solid mass is
obtained. Write a balanced chemical equation for the change.

{,Qd‘)f Give one more use of this white powder.
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A coil of insulated copper wire is connected to a galvanometer. What
would happen if a strong bar magnet is
Aa)  pushed into the coil ?

&)  withdrawn from inside the coil ?

(e)  held stationary inside the coil ?

Give justification for each observation.
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ka)  Write the function of the following in the human alimentary canal :
A1) Saliva

(i) HClin stomach
/(1)  Bile juice

Gw)  Villi ,
(6)  Write one function each of the following enzymes :
(i)  Pepsin

(i) Lipase

13 (a) uiedl (D) o dfen 9 78 g, fe o, aﬁ:%’ﬂ%@ﬁ@wﬁaw
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(2  Plants do not have any nervous system but yet, if we touch a
' sensitive plant, some observable changes take place in its leaves.
Explain how could this plant respond to the external st1muh and
i how it is communicated.
()  Name the hormone that needs to be administered to

@ increase the height of a dwarf plant.
(if)  cause rapid cell division in fruits and seeds.
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What is biodiversity ? Why are forests considered as “biodiversity hot
spots” ? List two factors responsible for causing deforestation.

15. wfsharar Aoft & w8 S o urgetll & fwdor < fafy, afsaar aoft & gen
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How is the method of extraction of metals high up in the reactivity series
different from that for metals in the middle ? Why can the same process
not be applied for them ? Name the process used for the extraction of
these metals.
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(a)  Distinguish between esterlﬁcatlon and saponification reactions

with the help of chemical equations for each.

(b) ~ With a labelled diagram describe in brief an activity to show the
formation of an ester.
OR |
. /What is the difference between soaps and detergents ? State in brief the
cleansing action of soaps in removing an oily spot from a fabric. Why are
soaps not very effective when a fabric is washed in hard water ? How is
this problem resolved ? | '
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A person is unable to see objects distinctly placed within 50 cm from his
eyes. x v ,
: ,Lé) Name the defect of vision the person is suffering from and list its
two possible causes.
(b Draw a ray diagram to show the defect in the above case.
(c)-  Mention the type of lens used by him for the correction of the
g defect and calculate its power Assume that the near point for the
normal eye is 25 cm.

(df)"/ Draw a labelled diagram for the correction of the defect in the
above case. :

u}fgf (a) Efféf%b‘{ﬁ e W1 SO [O=ITE 19 &, e e et
ﬁﬁﬁﬁaﬁwﬁ%?deﬁwm%mﬁ?ﬁ{awmm
U 98 | |
(b) = ey oTred Tl % $© aw oy e § | 39 T 1 9] S
Hrseeh | fozm m R
A(4), B(9), C(14), D(19), E(20) '
() sl fomme 6 wEEar @ i f e @ few T %
STERH I TH e ¢ | |
Gi) P qe THE Tg (GU) F ¥ 2 T Ik wHeA ¥ wR
QT |
(iii) Waﬁ}ﬁ@%ﬁﬁwqd%maqmiﬁmﬁwa@ﬁ%
ST A 2

J(fa“‘j‘ How is the valency of an element determ'ined if its electronic
‘ configuration is known ? Determine the valency of an element of
atomic no. 9.

(bJ Given below are some elements of the Modern Periodic Table.
Atomic numbers of the elements are given in parentheses :

A(4), B(9), C(14), D(19), E(20)

) With the help of the electronic configuration, find out which
' » one of the above elements will- have one electron in its
outermost shell.

()  Which two elements belong to the same group ? Give
reasons for your answer.

Gii) Which one of the above elements belonging to the fourth
period has bigger atomic radius and why ?

3174 ] | 9 P.T.O.
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Define electric power. An electrical device of resistance R is
connected across a source of voltage V and draws a current I.
Derive an expression for power in terms of current and resistance.

Two electric bulbs i‘ated 100 W; 220 V and 60 W; 220 V are
connected in parallel to an electric mains of 220 V. Find the
current drawn by the bulbs from the mains.

OR
10 -
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How will you infer with the help of an experiment that the same

current flows through every part of the circuit containing three
resistors Ry, Ry and Rg in series connected to a battery of Vvolts ?

B Study the following circuit and find out :

(i)  Current in 12 Q resistor.

‘ (}r) Difference in the readings of A and Ao, if any.

24 Q .

*@

v %129
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(a) Define vegetative propagation. List its two methods.

)  Why is this mode practised for growing some types of plants ?
kc) Explain the process of budding in Hydra with the help of labelled

diagrams.
OR

What is contraception ? List its four different methods. State four reasons
for adopting contraceptive methods.
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()  List two visible traits of garden pea that Mendel considered in his
experiments. How do Mendel’s experiments show that traits may
be dominant or recessive ?

(b)  With the help of a flow diagram, how would you establish that in

4 human beings the sex of a newborn is purely a matter of chance
and none of the parents may be considered responsible for a
particular sex of a newborn child ?
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A student mixes sodium sulphate powder in barium chloride powder.
‘What change would the student observe on mixing the two powders ?
Justify your answer and explain how he can obtain the desired change.

OR
fé“é/) Arrange the following metals in the increasing order of their
reactivities :

Copper, Zinc, AIuminium and Iron

(b)  List two observations you would record in your notebook
30 minutes after adding iron filings to copper sulphate solution.
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- A solution X’ gives orange colour when a drop of it falls on pH paper,
while another solution Y’ gives bluish colour when a drop of it falls on pH
paper. What is the nature of both the solutions ? Determine the pH of
solutions X’ and Y.

/24’ fefafaa oo W&@ 1 S HIR 3T 30 @ﬁ‘ﬂ’}i ¥ BE g a?f =i @
Ffeat 1 gt sy | faw AB i fRfa % degEw s 9 gfafes
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A
\'\L 2F2
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forelt v =1 Tl w1 & &wH@JWEﬂ?ﬁ Rt ohT T R T 8 |
3T TRUM T A o Q38 gRT SRt ST @t =m %Tra%‘rﬁﬁ g
ERIE 2
Study the following ray dlagram and list two mistakes committed by the
student while tracing it. Rectify these mistakes by drawing the correct

ray diagram to show the real position and size of the image corresponding
to the position of the object AB.

| 9F,

OR

. A student has to trace the path of a ray of light through a glass prism.
List four precautions he should observe for better results.
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Which one of the following is the correct set-up for studying the

—H =
D

dependence of the current on the potential difference across a resistor

and why ?
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X AWrite four sequential steps of the procedure of the experiment “Preparing

a temporary mount of a leaf peel to show stomata.”

OR
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In the experimental set-up to show that “the germinating seeds give out
carbon dioxide”, answer the following questions : '

@) Why do we keep the conical flask airtight ?

(ii) Name the substance kept in the small test tube inside the conical
flask. Write its role.

(iii) Why does water rise in the delivery tube ?

o7, 33 il b geh S R SR T 8 fees Freren 1w 6 &
| Temrse e § freved quidl @ |

List two observations on the basis of which it may be concluded that the
given slide shows binary fission in Amoeba.

31740 . 15

i




